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50, will be treated aéinalpractice. Sl

(06 Marks)

aining blank pages.

I b. Use the nodal analy51s to find the value of V, in the circuit shown in
g Fig.Ql(b) such that the current through 2 +33)Q unpedance is zero.
g %B s :
25
=
o=
g Fig.Q1l(b) , (06 Marks)
é & ¢. Obtain expressions. to convert star connected mpedances into equlvalent delta connected
=5 impedances. ’ (08 Marks)
g5
&5
EZ 2 a
O
25 ‘
B o
85
28
4.2
‘.‘5 —“E (06 Marks) .
; %{; b. Explam the concept of super node and super mesh. ’ (04 Marks)
g i or the circuit shown in Fig. Q2(b)
g =
5%
. = loo/2
— A
>
[}
Z
k|
£ 1002
Qu :
5
Fig.Q2(b) (10 Marks)
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State and prove Thevenin’s theorem.
Find the value of load resistance when maximum power is transferred across it and also ﬁnd
the value of maximum power transferred for the: ne%“Work of Fig.Q3(b).
N o H50 2V

@

P”lg Qb)) (08 Marks)
Using Millman’s theorem ﬁnd rrent through the load remstor RL for the circuit shown in
Fig.Q3(c). .

(04 Marks) .

(08 Marks)

(08 Marks)

| Flg Q4(C)

- Module-S o
What is 51gn cahce of 1n1tlal con 1t10ns‘7 Wnte a note on initial conditions i in basw 01rcu1t.

(04 Marks)-

’ eletnents 4 L (06 Marks)

lofy : e Sk

‘J fur

rF'ig.QS(b),k‘ ;  gt SRR ,(07Mayl'<sb)‘:‘

1oV
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c. A series R — C branch w1th R = 20Q and C = 1 pF,is shunted by a inductor of re51stance
: 20Q and inductance 1H. This is supported by a D.C. source of 100V through- a series. - e
resistance of 10Q. There is a switch across 10€2, which is closed at t = 0. Solve: for the *
currents in L and C and their derivatives atr = 0%, (07 Marks) PR

OR

6  a. Find the Laplace transforms of following st ; )
i) Step function  ii) Ramp function 111) Impulse ﬁmctlon m (06 Marks)
b.  Obtain the Laplace transform of the sq\la:re wave train shown in'Fig.( -
(06 Marks)
. (08 Marks)
7 a. Define:*(i) Bandwidth (i) Sé‘i‘“em;ivity. Derive an e mssmn for bandwidth for senes
resonant circuit. (08 Marks)
b. For the parallel resonant ad dynamic
resistance.
‘ 0ovoks
e Fig.Q7(b) o (08 Marks)
c. ries circuit having nductance of 50 mH and a condenser

(04 Marks)

4

A series RLC 01rcu1t has R 4Q L=1 mH and C =10 pF, calculate Q-factor, bandw1dth
‘resonant- frequency and ‘the half power frequencies fi and . (08 Marks)
b. Derive the expresslon for resonant ﬁequency for the parallel circuit shown in the Fig.Q8(b)..

- . R
\ c
| L
. & o
z Fig.Q8(b) (08 Marks)
.c. Show that the rcsonant frequency is the geometric mean. of two half power frequencies. ;
; (04 Marks)
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Module-5 ; :
9 a = £
atal y
(08 Marks)
10 a. Express h-parameters in texmé of z-parameters and estabhsh the same. (08 Marks)
b. Find out transmission parameters for the network shown in Fig.Q10(b).
, . (08 Marks)
c.  Write the condition of symmetry an& re01pr001ty for the fo lowing parameters:
(1) Transmission parameters (11) y-parameters , (04 Marks)
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